Foltételi egyenletiink igy irhato:

(ax? + by? + c2?2)?
4

= (dyz + czx + fxy)>.
Ha ezen egyenletbdl a
bey?z? + caz’x? + abx?y® = bey?2? + caz’a? + abx?y?

azonos egyenletet kivonjuk, akkor kapjuk, hogy
(dyz + ezx + fay)? — bey?2? — caz’x? — abr?y? =
_ (a2? 4 by? 4 c2?)?
- 4

2 _abz?y? =

— bey?2? — caz’x

{(ax2 +by? + c2?)? — 4(bey?2? + caza® + abx2y2)} =

= ] e

{a2x4 + b2yt 4 22t = 2(bey? 2% + caza® + abx2y2)}
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Z{(a:zc2 —by? +c2?)? - 4bcy2z2} =

RN

{(ax2 —by? —c2?) — 2yzx/%}{(ax2 —by? —c2?) + 2yz\/b_c} =

- i{axQ — o+ Z\/E)2}{CLI2 - z\/5)2} -

(ava +yVb+ zve)(zva — yVb — 2/0)(wva + yvb — 2v/0)(zva — yVb + 21/0).
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(Bayer Béla, Losoncz.)
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